
Question

Verify the following integral.
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(Hint: There is a branch cut between x = 0, x = 1.)

Answer

Consider J =
∫
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PICTURE

This is equal to
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by Cauchy’s theorem.
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z = xe−2πi (defining z on − 2π < arg(z) ≤ 0 (?))
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Now
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Now let R→∞ we still have limR→∞ J =
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with (−1) = eiπ. Why? This is consistent with branch

(?) chosen
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